VIDYASAGAR UNIVERSITY

Question Paper

B. Com. (General) Examinations 2021
(Under CBCS Pattern)

Semester - V

Subject : B. COM.
Paper : GE 1-T

(Principles of Microeconomics)

Full Marks : 60
Time : 3 Hours

Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

(Theory : Marks - 60)
Group-A

1. Answer any four of the following questions :

12x4=48

(a)  What are the determinants of demand? Explain market equilibrium by using demand and

supply. Define income elasticity of demand.

4+6+2

(b)  Write properties of indifference curve. Discuss consumer’s equilibrium using indifference

curve.

4+8

(c)  What is price consumption curve? Using diagram prove that price effect is equal to the

summation of substitution effect and income effect.

3+9




(d)

Define Iso quant. What is iso-cost line. Write conditions of producer’s equilibrium. What
1s diseconomics of scale? Write a short note on returns to scale.

2+2+2+2+4
(¢)  What is economic cost? Distinguish between fixed cost and variable cost. Draw average
fixed cost curve. Why is a short run average cost curve is ‘U’ shaped? Define marginal
cost. 2+3+2+3+2
()  Write features of perfectly competitive market. In this market, discuss equilibrium of a firm
in the short run. 5+7
(2)  Define monopoly. Using diagram, explain long run equilibrium of monopoly firm. Write the
features of monopolistically competitive markets. 2+5+5
(h)  What is oligopoly? Explain co-operative and non co-operative behavior of oligopolistic
firms. Draw a perfectly competitive firms’ demand curve for labour. What is economic
rent? 2+5+3+2
Group-B
2. Answer any six of the following questions : 2x6=12
(a) Define demand.
(b)  State law of supply.
(c) Define own price elasticity of demand.
(d) What is utility in economics?
()  Define substitution effect.
(H)  State the law of variable proportions.
(g) What is opportunity cost?
(h)  What is perfectly competitive market?
(1)  Define price discrimination in monopoly.
()  What is the value of marginal productivity of labour?
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